= o
A & 0l & AF 2 E A A
20188 = =04 Lets|H AL NSER NGMEY ~ HENSEF St L H
FN: AENSER NGHEH
e ZOHAAL &X
Sl SAANERYURE EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AENsSEF NG 16,895,398 15,699,814 1,195,584
= 235,000
Xl 310,000
Al 16,350,398
FOEHAAL AX 113,380 200,844 ABT7,464
SANANE2IEE 2 113,380 200,844 AB7,464
=SS Matzte] 17,243 22,643 A5,400
201 Let2d] 17,243 17,243 0
01 At 22l I 17,243 17,243 0
O=27ML 2| =2 16,575
OZAHEY =2 563,000& = 25% X 14,075
OSJEEY =8 50,000& = 502 X 2,500
O=RMLAIEZ M=+ DX 668
OHSE oM 150& * 3,0000H 450
ORI A o4y 72,6003 = 32fA 218
=7 2l 96,137 178,201 A 82,064
401 Al HIZ 201 Y| 96,137 31,666 64,471
01 A& HI 95,748 31,428 64,320
O35+ EJIANE ASHHEX wWHSA &Al
2HESA 235,000,000& * 4.43% 10,411
O3+ B 2L 2A 36,000,000& * 13l 36,000
O3+ 2+ 2Z3AM HdAEAHAES
36,000,000 * 6.49% 2,337
Ozs+ FLBEEY 22,000,000& = 13l 22,000
OBST WHLSHIISY
25,000,000& = 13l 25,000
03 Al 2 THHI 389 238 151
O3+ N2 RXNE=> AIER20H
36,000,000& * 1.08% 389
ANOZRSIHEZNESI| XS 16,233,434 15,039,762 1,193,672
= 235,000
Xl 310,000
Al 15,688,434
AMOZRSHE S 2 EH| 9,686,935 8,508,965 1,177,970
= 235,000
Xl 185,000
Al 9,266,935
WSHTEAILE X £ WAHAY 516,890 1,093, 140 A 576,250
401 AIEHI L 2 CHEI 516,890 1,093, 140 A 576,250
01 A& HI 513,290 1,088, 140 A 574,850
OQULEANTANEERXNESALE(1328)
300,000, 000& 300,000




dusSE2F NI
QIRISEE 2N S)IgtE S
lzlsty S =2&#Z &

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OWSATANEERNNE=A (1328) AAEA
29 300,000,000& * 4.43% 13,290
OLYSH(0HEZS) FHIAMS (114 H)
200,000, 000& 200,000
03 A& R THHI 3,600 5,000 A 1,400
OULSATAEES £X & wWHMAE AIEZ=2UH
500,000,000& * 0.72% 3,600
XHd &= A4 5,465,300 5,492,000 A 26,700
401 Al HI K 201 I 5,333,300 5,412,000 AT78,700
01 A& HI 5,320,000 5,400,000 A80,000
OXRXUHZL 25 =H Xto &M Z AFH(L=82km)
800,000,000 800,000
OMEEZZ2 29 =d Xt& & M3 AFH(L=80km)
800,000,000& 800,000
O8Y22 200 =d Xt& & M3 AH(L=79Km)
800,000,000 800,000
OUAE 22 2000 =& Xt & A8 3 AFH(L=75km)
700,000,000 700,000
OSHXNY Xt = MIT AH(L=150km)
1,500,000, 000& 1,500,000
OXE M 21538 4 (A=16,000m")
400,000,000& 400,000
ONelol. = E8s2AXH &M (29201 4 )
250,000,000 250,000
O=gelstt=Z Z AL (3JH2) 70,000,000 70,000
03 A& =2 THHI 13,300 12,000 1,300
O Xt A B At 5,320,000,000& * 0.25% 13,300
405 XtatE SHI 132,000 30,000 102,000
01 XA = ZH SHI 132,000 30,000 102,000
OXEEM FE=EFHI| ¢
30,000,000& * 44 120,000
OXNESENZ=ZEDI 3,000,000& * 404 12,000
WESMD 2 HEAY 945,985 703,000 242,985
X 45,000
Al 900,985
401 Al HIZ 201 Y| 945,985 703,000 242,985
Xl 45,000
Al 900,985
01 A& HI 940,000 700,000 240,000
Ot SAtHel nEAD 2R HHAY
90,000,000& * 1JH A 90,000
Xl 45,000
Al 45,000
OdNsE FELEAJALAIANCIL 401 WSA
222 A 90,000,000& * 50 4 450,000




2N
X ZH -
L= B

el

==Y

dusSE2F NI
DRSS ETZNEI|BIY
lzlsty S =2&#Z &

O== T2 HHEXE FHIAE AIEZR20H]
660,800,000& = 0.63%

4,164

= - — SHE|
M- =8 s (3) - HRAMY - BES 0l &t o8 il HlnE2
OMEAIMCIL 7HA DEAMD 2R AL
e 50,000,000& * 8 & 400,000
03 AIE 2 0HHI 5,985 3,000 2,985
OWSAtD 2R HAAY AIE20UHI
950,000,000& * 0.63% 5,985
HEF LA 15,000 0 15,000
401 Al HI & 2 08I 15,000 0 15,000
01 A& HI 15,000 0 15,000
OE=U =2 Sstl=Hel Z48AMY SUHEDL
29 15,000,000& * 13l 15,000
2l)ls |FA&el 42,500 412,000 A 369,500
201 Let24d] 2,000 2,000 0
01 At 22l 1,000 1,000 0
OME X 23 URAAHA K0l
2,000& = 5& = 100& 1,000
02 8323l 1,000 1,000 0
OMEXNEZ=ZI| R 1,000,000& * 1= 1,000
5 a2 S 5,000 10,000 25,000
01 Hia=s 5,000 10,000 A5,000
OWSHEAIE At M gla3
500,000& =« 103l 5,000
405 RHoHF S HI 35,500 0 35,500
01 AL 2 ZFH S| 35,500 0 35,500
OuEXE=RSI ¢ 35,500,000& * 1=X 35,500
E2ANE A2 816,764 64,825 751,939
201 LBt 35,080 11,040 24,040
02 =224l 35,080 11,040 24,040
ORct=su=Jt0 et BB AHE
3,500,000& * 8IH £ 28,000
ORC=JNetEdZ e MIIeS
15,000& » 10004 « 128 1,800
OXZEZE s EXALAE SULI
110,000& = 404 = 12& 5,280
401 Al HI & 28I 745,684 53,785 691,899
01 A& HI 740,800 53,245 687,555
O=2& SZHUHEXE FHIAY
2,800,000& * 2369H 2 660,800
OE=RIESAY 40,000,000 » 20 A& 80,000
03 Al 20 HI 4,884 540 4,344




-

JoLd

FN: AENSER NGHEH
M ARG EEZWSIIBES
S AYESE E2EFFH| (¢t
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZSZ2RXNE=AY Al 20
80,000,000& * 0.90% 720
405 XHoHF S HI 36,000 0 36,000
01 AL ESFH S 36,000 0 36,000
OXEEZE Xs EXAIAE  9,000,000& = 404 36,000
SIMWIZ N AL 280,000 0 280,000
Xl 140,000
Al 140,000
401 A& HIZ 2018 280,000 0 280,000
X 140,000
Al 140,000
01 A& HI 280,000 0 280,000
o0& Hel sl dNIZE AXAY
280,000,000& = 1JH A 280,000
Xl 140,000
Al 140,000
MEAHEZFHI AN 470,000 0 470,000
= 235,000
Al 235,000
401 A& HIZ 201 I 470,000 0 470,000
= 235,000
Al 235,000
01 A& HI 467,000 0 467,000
OMEH 0lHEZ HUIAI (50H2)
467,000,000 467,000
= 233,500
Al 233,500
03 A& 2 THHI 3,000 0 3,000
OMEH OlIHEZ HHIAY AIE S
3,000,000& 3,000
= 1,500
Al 1,500
WIS NS ALY 453,240 744,000 A 290,760
401 A& HIZ 201 I 453,240 744,000 A 290,760
01 A& HI 450,000 740,000 A 290,000
O=24 ZHOIMELR 3MA W2 N A
450,000,000& 450,000
03 AlE S THHI 3,240 4,000 AT760
OUXZ HEAY AlE=20UHI
450,000,000& * 0.72% 3,240
MEEZ DSIHA 615,856 0 615,856
401 Al HIZ 201 I 615,856 0 615,856
01 A& HI 612,000 0 612,000




FN: AENSER NGHEH
M ARG EEZWSIIBES
Sl MRS T2E I (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMHEETZ WESIHHEAL (L=473m)
612,000,000 612,000
03 Al 2 THHI 3,856 0 3,856
OUEEZ WSMHEAMY AL
612,000,000& * 0.63% 3,856
EYs 2SI LAY 65,400 0 65,400
401 Al HI K 201 I 65,400 0 65,400
01 A& HI 65,400 0 65,400
OsYds BHSAFAZT LAY AALEHEA
2,000,000,000& =* 3.27% 65,400
=MNSIIEE S 3,018,481 3,521,267 A 502,786
Xl 125,000
Al 2,893,481
TNEAANE SR 2elASY 240,626 229,597 11,029
201 Let24d] 5,000 0 5,000
02 2324gHl 5,000 0 5,000
ORHE NEA HHA NAEA =2l
50,000& = 1003l 5,000
206 = Hl 10,000 10,000 0
01 M2 4l 10,000 10,000 0
OXNEAN SII=eD L AX&H 7
200,000& * 503l 10,000
401 AIEHI L 20 223,626 219,597 4,029
01 A& HI 222,070 218,070 4,000
OXNEN M2 R 22 (L=65.6kn)
100,000, 000& 100,000
OXNAEHNHET=ZH E2I|(L=65.6km)
30,000, 000& 30,000
OX&EAN B2UEX 600,000& * 10X 6,000
OXNEHN WSAHMEXE FHI
200,000& * 1009H £ 20,000
OXNENFBEZTZE HXY HHI
100,000& * 1007H £ 10,000
OX&EN &Ez &X 5,000,000 = 1094 & 50,000
OXNENERZ FRAZCIAMY HALHEA
100,000,000& * 6.07% 6,070
03 A& =2 THHI 1,556 1,527 29
ONEN HEEZ KAl AIZRMH
216,000,000& * 0.72% 1,556
405 RHoHE S HI 2,000 0 2,000
01 AL EZFH S 2,000 0 2,000
ORAdE NEAHUHNHA AN WM 2
200,000& = 10CH 2,000




FN: AENSER NGHEH
M ARG EEZWSIIBES
el SMDE)IBEY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
010l 25729 ALY 1,554,680 827,000 727,680
X 125,000
Al 1,429,680
401 Al HI K 201 I 1,554,680 827,000 727,680
Xl 125,000
Al 1,429,680
01 A& Bl 1,550,000 824,000 726,000
ONEBOIESFAMAAS (LI 0l &2 404
a) 50,000,000& * 50 4 250,000
Xl 125,000
Al 125,000
O0EoE2saY e o X 22l At (28604
a) 1,000,000, 000& 1,000,000
O0ellEs7Y Relnst=aH X
40,000,000& 50 4 200,000
oOngoE2s2Y Jlals =889
100,000,000& * 13l 100,000
03 AlE 2 THHI 4,680 3,000 1,680
ONEOIEETY HEAY & |X2el AIER
CHHl 1,300,000,000& * 0.36% 4,680
AEus 2 33,300 23,000 10,300
201 €2l 14,300 8,000 6,300
01 At 22l 14,300 8,000 6,300
OALDERL AR N S0
10,000& = 80 = 102 8,000
OJI=XZRd NEs iR
15,0008 * 3002 4,500
OZzZeldos Moz Rl
15,0003 = 30& = 43| 1,800
203 ¥ S =&l 19,000 15,000 4,000
03 A=A H 2 =AY 19,000 15,000 4,000
OXYHe HRFA 9,000,000& 9,000
OAM B BHO Y AL FA
10,000, 000& 10,000
HEHOIE EHSAY 585,095 535,670 49,425
201 €24l 15,500 10,000 5,500
01 At 22l 15,500 10,000 5,500
OX&ENHOIE 82 =2 MH
1,000& = 5,0000H 5,000
OXNEN WSATWNF LAY
70,000& = 1503l 10,500
307 gl2tol & 16,000 16,000 0
05 BIZHRIE 3 16,000 16,000 0




FN: AENSER NGHEH
M ARG EEZWSIIBES
el SMDE)IBEY (B9 ®R)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXNENUAHA ¥ R2HEE 29I
16,000, 000& 16,000
401 Al HIZ 201 I 553,595 509,670 43,925
01 A& HI 551,075 506,070 45,005
OXENE=Z FHI|(L=513.4km) 100,000, 000& 100,000
Og4 3 AXUZ A&EH ELT 2EEZ F
=[F=PN; 250,000& * 1,000m 250,000
Og4 AXUZ A&EH, Bt 2EEZ F
HZAL AAIEAHES 250,000,000 * 4.43% 11,075
OFFAl ANEN0IE ELHEEA
190,000,000& * 13 190,000
03 Al S THHI 2,520 3,600 A 1,080
ONENEZ FHl AIZR0HH
350,000,000& * 0.72% 2,520
ANAALLgeds 2SAY 1,000 1,000 0
203 YR =& 1,000 1,000 0
03 AIBF=XH S Z=ZH| 1,000 1,000 0
(OF=Reig= Rty 1,000,000 1,000
A2 ANEN -2 BEEZZ2 FHAY 603,780 0 603,780
401 AIEHI L 2 CHYI 603,780 0 603,780
01 A& HI 600,000 0 600,000
O&MYZE NEA BT Z2EZ2 FHIALY(L=7
50m, B=4.0m) 600,000,000& 600,000
03 Al =2 THHI 3,780 0 3,780
o2 NEN BEHX B2 FHIAMY Al
=R ] 600,000,000& * 0.63% 3,780
sE 2% &35 3,528,018 3,009,530 518,488
4 Esle] SREZEIA 241,728 50,000 191,728
401 Al HIZ 2018 241,728 50,000 191,728
01 A& HI 240,000 50,000 190,000
OS]4 2sle] T2 & X & Z AHL=0.33km)
240,000, 000& 240,000
03 A& SR THHI 1,728 0 1,728
O=4t &slel T2 EZE I AL AIEZ 2RI
240,000,000& * 0.72% 1,728
& WHe S2EZEHIA 503,600 70,000 433,600
401 Al HIZ 201 I 503,600 70,000 433,600
01 A& HI 500,000 70,000 430,000
O uHel S=2& L EZAH(L=0.54knm)
500,000, 000& 500,000
03 A& S THHI 3,600 0 3,600




2N
X ZH -
L= B

el

5 - 4
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
OR2LE A T2 EHIZIHI A AIZL20HI
500,000,000 * 0.72% 3,600
20| 9ol 2 SHEEZA 302,160 251,800 50,360
401 AIEHIZL 201 Y| 302,160 251,800 50,360
01 Al&H| 300,000 250,000 50,000
O=20| YotE=2 S EZEZAHL=0.4km)
300,000,000 300,000
03 Al 201 Y| 2,160 1,800 360
O=0| 9otE 2 SZXHZAI AlEE20HY|
300,000,000& * 0.72% 2,160
(H2~2H2t S 2SI X2 A 704,410 704,410 0
401 Al HI L 2 0HHI 704,410 704,410 0
01 A& H| 700,000 700,000 0
ONL~BAHZt TR A 2 AH(L=1.24km)
700,000,000& 700,000
03 Al&E 201 Y| 4,410 4,410 0
OUZ-SoI2 CRHTEHBA ALY
700,000,000& =* 0.63% 4,410
2 A~AOEOE 2 E I A DA} 302, 160 503,600 A 201,440
401 Al HI L 2 0HHI 302, 160 503,600 A 201,440
01 Al& B 300,000 500,000 A 200,000
OZV~AU2H T2 5T HTAH(L=0.98kn)
300,000,000& 300,000
03 A& E2HH| 2,160 3,600 AN 1,440
OZJ~Aret2t 2T XD AL AIE 20|
300,000,000& * 0.72% 2,160
SH~FH2 TS 2ETZT DAL 151,080 0 151,080
401 AlEHIZ 2 0HY| 151,080 0 151,080
01 Al& B 150,000 0 150,000
OSH-Z=H2t T2 IR I AH(L=1.12km)
150,000,000 150,000
03 Al 20| 1,080 0 1,080
O EH-=32 E2E T EZAI AIES20H]
150,000,000 = 0.72% 1,080
L HIZS20 WIS Z2A 402,880 0 402,880
401 AlEHIZL 2 0HY| 402,880 0 402,880
01 Al&H| 400,000 0 400,000
OW% HlzZ20 WEIHEZAH(L=24m,B=9m, &2
St & =0.89m) 400,000,000 400,000
03 AlE 21| 2,880 0 2,880
OW=z H=2W DEIM=ZAF AIE20HH]
400,000,000 = 0.72% 2,880




SN AEDESS KAWL D
M AQIZSHCRNE)| A
Oe: == S22 HE (9l ® )
SAE|
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
Q5 AF2 TZ2EILEZA 80,000 0 80,000
401 AlEHIZL 201 Y| 80,000 0 80,000
01 Al£H 80,000 0 80,000
O0Es MHIZ T2 ST E ZAH(L=0.8km)
80,000, 000& 80,000
QFE Hite T2 EEEHZA 150,000 0 150,000
401 A& HI L 2 0HHI 150,000 0 150,000
01 Al£H 150,000 0 150,000
ORE Mt T2 E I E R AH(L=1.5kn)
150,000, 000& 150,000
W e T2E I EZA 100,000 0 100,000
401 AIEHIL 20| 100,000 0 100,000
01 AlZ | 100,000 0 100,000
O« RA2l CEHIEDA(L=0.7kn)
100,000, 000& 100,000
20| N2 T2 EZAZA 100,000 0 100,000
401 AlEHIZL 2 0HY| 100,000 0 100,000
01 A&t 100,000 0 100,000
020 MY2l T2 IEIA(L=0.85kn)
100,000, 000& 100,000
HZEAN SOHEZZ J|2HE(HH) 8 249 200,000 0 200,000
401 Al2HI L 2 TH Y| 200,000 0 200,000
01 Al£H 200,000 0 200,000
OSHEZZ JI2HE (HAE) 2 (1HEE)
200,000,000& = 13| 200,000
AAN-E Q2 2 ST AT A} 220,000 0 220,000
401 AIEHIZL 201 Y| 220,000 0 220,000
01 Al£H 220,000 0 220,000
O atA~EH 2t & 2 3 I & 2 AFH(L=4km, B=8m) &!
ANEAHSS 220,000, 000& 220,000
20| 22 T2 EIFZAL 70,000 0 70,000
401 Al HI L E0HHI 70,000 0 70,000
1 A& I 70,000 0 70,000
020 Zde| S2E I E D AH(L=0.7kn)
70,000, 000& 70,000
HHSAAY(HEDNEEE NIHen) 548,584 459,208 89,376
Jl2 &l 117,000 111,662 5,338
Jl2&Hl 117,000 111,662 5,338
201 LBt Y| 69,088 67,922 1,166




2N
X ZH -
L= B

el

AENSER NAHEH
HY2HZH(HERE2R NINHL)
Jl=23tl

SN HH-S(BN) - MBAY - B il HlnE2
01 At 22l 48,438 40,572 7,866
OJlegesda sl 500,000& = 229 11,000
OJIEZHl (S2dl)
8,000& * 25 * 8 * 123 19,200
O=2INHEEX H2A72== 30,000& = 123 360
OEAIZZOY RAE Ul 130,000& * 12& 1,560
OS2 4DBAtZ (DFinder)s Xl 2 4=Hl
17,820,000 * 10% 1,782
O+ (L2t&EH, 24IZ) 100,0008 * 103l 1,000
O=EEESXel Z2FEI =82
500,000& * 2J4 Ab * 23] 2,000
OXNENT HE=8 A3 1,936
(OF=F= 330,000& * 48A 1,320
ocedg 154,000 *» 4MlE 616
O=SMa & Tz e Adxt
800,000& * 10H = 12& 9,600
02 =224l 20,650 27,350 26,700
oZ2ExE 22 20,650
OBz 1,650
-8 e 400,000& * 1CH 400
581 =¥ 350,000& =« 2CH 700
3= A 550,000& =« 1CH 550
Oxtg =Xl 19,000
-5 &Xt 4,900,000& =« 3CH 14,700
-st= Xt 4,300,000& = 1CH 4,300
202 Odl 33,792 22,680 11,112
01 =LHOIHI 33,792 22,680 11,112
OJIEZ
20,0008 » 22H » 8 » 128 » 80% 33,792
203 YR =&t 14,120 11,060 3,060
01 J22F PR =8| 6,000 3,300 2,700
OJIEH(43) 6,000,000 6,000
02 AP R=EH| 3,920 3,560 360
OF AL R = A 40,0003 » 98Y 3,920
04 BENSSHR =L 4,200 4,200 0
O©JI&EH (25210138t) 350,000& = 12& 4,200
223 431,584 347,546 84,038
ol Al 431,584 347,546 84,038
101 @14 dl 431,584 347,546 84,038
01 2 424,928 309, 154 115,774
OLEHA A28
10,0033 = 118H  30AI2H » 123 424,928
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= A
A & 0l & AF 2 E A A
20188 = =04 Lets|H AL NSER NGMEY ~ HENSEF St L H
PN AENSER S2AEH
M ZFATA U 94X tME E2nsEsd 2=
Hel: F2d A2 X A= (&)
= I-IIH l:l-o = NS | OH El‘:E =2t
AENsSER TZ2AEN 24,139,899 34,173,473 10,033,574
AT Al O dSHQ HEE S 2usY 2= 20,917,461 30,891,430 29,973,969
FRAE BIE2L )| AH 13,479,000 17,918,000 A 4,439,000
Hezst2(MEFW~SHUUZ)NE3A 4,461,000 7,010,000 A 2,549,000
401 Al HIZ 2018 4,461,000 7,010,000 A 2,549,000
01 A& HI 4,200,000 6,500,000 22,300,000
OMzzs2(ME=U~ESZFWXNR) HESA(L=
1.88km, B=35m) 4,200,000,000& 4,200,000
02 2eltl 250,000 500,000 A250,000
OH2&ESZ (MEFW~EZBUIZ) HESA &
Sl Zrel 250,000, 000& 250,000
03 Al 2 THHI 11,000 10,000 1,000
OM2zestZ2(ME=U~ESZWUZ)HNE S AL Al
=R 11,000, 000& 11,000
EFo0IHARE LE=2 & 3,003,000 0 3,003,000
401 Al HIZ 201 8] 1,003,000 0 1,003,000
01 A& HI 1,000,000 0 1,000,000
OBIoIIHA MAEZ JH&A B AH(L=0.2km, B=20m)
1,000,000, 000& 1,000,000
03 A& = THHI 3,000 0 3,000
OQotolIA MAETZ IHESAH A2
3,000,000& 3,000
403 XM S =0l & 2,000,000 0 2,000,000
02 S 2SO HEREE 2 E AL 2,000,000 0 2,000,000
Oot0lHA MELIE= AXZA REE=
4,000,000,000& * 50% 2,000,000
FF(22-2Y) MR c=HE 4,010,000 3,405,000 605,000
NE=N=1R=t W ] 4,010,000 3,405,000 605,000
01 A& HI 4,000,000 3,400,000 600,000
MR C2(SL~2d) HE 2 AH(L=13.
08km, B=20m) = A&tH| 4,000,000,000& 4,000,000
03 Al R THHI 10,000 5,000 5,000
ICUHHRICZ(SL~-EY) HESA AL
Syl 10,000,000& 10,000
NEZ (A2 AH~-FE AN EHE 1,505,000 200,000 1,305,000
TAEHIZXEUY 1,505,000 200,000 1,305,000
01 A& HI 1,500,000 200,000 1,300,000
ONRZ(AIMAHe~=AACl) &F 3 AH(L=1
.5km, B=25—35m) 1,500,000, 000& 1,500,000
03 AIE 2 THHI 5,000 0 5,000




2N
X ZH -
L= B
el

ol
=
12
O

bl
e
o
r
]
i
Hy
£
On
02
1
Hh

(o
H-H2 - B9 (3H) - HEAY - BA=S Ol At o ﬁ}lgﬁ HRE2
ONMEBZ(ABAIHZI~SEHAIHZ) EEHZA Al
A2 0| 5,000,000& 5,000
Dl XtE S&EZ2A 300,000 0 300,000
401 AIEHIZL 201 Y| 300,000 0 300,000
01 Al&H| 300,000 0 300,000
OJI0INXZE SHEAZA(HZZ21.3km, 2 HEH4
4m 300,000,000 300,000
SGH2(s=nx2~ddsg) s&2A 200,000 0 200,000
401 Al HI L 2 0HHI 200,000 0 200,000
01 Al& H| 200,000 0 200,000
OHMZ(EEWXN2~EEsE) ST ZAHL=0.6
5km, B=35m) 200,000,000& 200,000
nNE SAHel L HMEZ A 2E 6,359,088 12,208,017 N5,848,929
QAN JIEHAEX B4 659,469 1,111,470 A 452,001
401 AlEHIZL £ 0HY| 659,469 1,108, 128 AN 448,659
01 Al&EH| 655,500 1,104,240 AN448,740
©JlHAZ K SAH(12m0| &)
45,000,0008 » 142 X 630,000
OMMA BHE =3 25,500
OFE=EY =2 400,0008 » 302 X 12,000
OUFFI 248
200,000€ = 30= X| = 24 20| & 12,000
OsJs"e =42 50,0008 » 30Z X 1,500
03 Al& 20| 3,969 3,888 81
OZ22AAMY JEHLE X 24 AE20|
630,000,000& * 0.63% 3,969
SIH AISHA FHD| 50,619 28,128 22,491
101 e1214| 10,345 12,128 AN 1,783
04 JI2tHIZ22XNEES 10,345 12,128 N 1,783
OBAMXE BRERE E 10,345
OBAXE BREQEY ol
60,2403 * 1¥ * 262 * 6& 9,398
O=2o13a 22 9,398,000 * 4.5% 423
Onaggs 242 9,398,000& * 1.5% 141
ONATHO 22 9,398,000& * 0.8% 76
O=Z02AH2UAEEgE s B2
9,398,000 = 3.06% 288
OMILAESE B s 2=
288,000 * 6.55% 19
201 LBt Y| 40,274 16,000 24,274
01 AP 22| d| 39,782 16,000 23,782
OA S M AR D] 39,782




EXN: NS T2AIE0
Ha: OTA Y ASHO JFEE TRISY 7S
Chel: CATDE 2AX2 L HHCA PH EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
OB ADBAZ (Df inder )& Xl 2 4=H|
148,500 * 123 1,782
Os&ms+= 20,000,000 = 13l 20,000
OANSMARD| SIEE =3
500,0008 = 20 X 10,000
OANSHARD AsHES(SE2, 2AXH)
300,0008 = 20 X 6,000
Obl2sX 88 THAAMH 20,0008 * 1000H 2,000
02 E2=2=2%H| 492 0 492
o032 RE= 2,050 « 2000 = 12€ 492
HFEA 242 T2 EE Z2A 2,707,000 700,000 2,007,000
401 AlEHIZL £ 0HY| 2,707,000 700,000 2,007,000
01 Al&H| 2,000,000 0 2,000,000
OHFA~2 M2t T 23X B AH(L=2.1km, B=8—2
5m) 2,000,000,000& 2,000,000
02 2eldl 700,000 700,000 0
OFZA-ZM TRETTDA HABAAE
700,000, 000& 700,000
03 AlE 21| 7,000 0 7,000
OFFAH~=2 A2 T2 A2 AN AIE 20|
7,000,000& 7,000
283 XNZ A B A 503,000 816,500 A 313,500
401 AlEHIZL £ 0HY| 503,000 816,500 A 313,500
01 Al&H| 500,000 813,500 A 313,500
28tz X2 =2 A ZAH(L=0.3km, B=20m)
500,000,000 500,000
03 AlE 201 3,000 3,000 0
ozetz2 M2 S 2IE 2 AH(L=0.3km, B=20m)
Al & 2 HHI 3,000,000& 3,000
OELRAIYE~N2atHe |2t S 2 EE Z2A} 170,000 1,504,000 A 1,334,000
401 AlEHI 2L 2 0HY| 170,000 1,504,000 A 1,334,000
02 2teld| 170,000 0 170,000
OS&EHEAIE 22l 170,000,000 170,000
Dad M2 D2 AR Z2A 673,000 1,504,000 A 831,000
401 AlEHIZL £ 0HY| 673,000 1,504,000 A 831,000
01 Al&H| 500,000 1,500,000 A 1,000,000
O0l&d MYE2 WX o X 2AH(L=4.65kn
, B=8.5m) 500,000, 000& 500,000
02 Zeldl 170,000 0 170,000
OSEHEAIS 22| 170,000,000 170,000
03 Al 201 Y| 3,000 4,000 A 1,000




PN AENSER S2AEH
Ha: OTA Y ASHO JFEE TRISY 7S
Chel: CATDE 2AX2 L HHCA PH EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ol0lSd MYEZ WAHXZ EXSA AIER
=l 3,000,000& 3,000
SHZ(HeE=T~UZMN2E) & S A 514,700 31,919 482,781
401 Al HI K 201 514,700 30,000 484,700
01 A& tI 511,700 30,000 481,700
OSEZ T I3A HYESAEL
500,000,000 500,000
OTAH HE 248 11,700
OLHEIN+42
200,000& = 26Z Xl = 204J| = 10,400
OsSJIEE =2 50,000& = 262 X 1,300
03 Al 2 THHI 3,000 0 3,000
O8EZ &I AL AIZR0HYI 3,000,000& 3,000
NEZ=IC~-F=20t2 S2MHE SA 100,000 511,000 A 411,000
401 A& HIZ 201 I 100,000 511,000 A 411,000
01 A& HI 100,000 509,000 A 409,000
OMEZ=IC~-F=30tS2 T2IHES A HYEX
24 100,000, 000& 100,000
PHNZE HE 511,550 114,000 397,550
401 Al HI X 2018 511,550 114,000 397,550
01 A& Hl 508,550 114,000 394,550
ORAMMZ =& I AHL=0.98km, B=20m) H S
X e & 500,000,000& 500,000
OTAE HE 248 8,550
OLHEI+42
200,000& = 19Z Xl = 204J| = 7,600
OsSJIEE =2 50,000& = 192 X 950
03 A& & | 3,000 0 3,000
ORHUNZ ZI3 AL AIZR0HHl 3,000,000& 3,000
DAZAHE~EF=SSu E2TF S A 308,750 0 308,750
401 A& HIZ 201 Y] 308,750 0 308,750
01 A& HI 306,750 0 306,750
OUNZANCI~-E=SstL T2 SA HEY
224 300,000, 000& 300,000
O BME 228 6,750
OLHEI+22
200,000& = 15Z Xl = 204 2J[2t 6,000
OsSJIEE =2 50,000& = 152X 750
03 A& 2 THHI 2,000 0 2,000
OUNZANCI~-E =SSt T2 SA HEY
EXNEL AIEZ204d| 2,000,000& 2,000
s 23 E2HMESM 137,000 0 137,000




F ook Y

HDEER TRALD
ST Al CHHl HSHQ OIFS CENSY PE
NDE BMHR L AHCAl D

- _ _ RE]

SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
401 AlEHIZL 2 0HY| 137,000 0 137,000
01 Al&H| 137,000 0 137,000

OXNEsES 2 T2IHAEZAI HAIEZAHESHE (L=1.
15km , B=15m) 107,000,000 107,000
OEXZRE 542 400,0008 ~ 752 X 30,000

S2YHEAESFOMEH ANQZ2 EA 24,000 0 24,000
401 AlEHIZL £ 0HY| 24,000 0 24,000
01 Al&H| 24,000 0 24,000

OESH2EH=F0IMdE Y2 SZ2AHL=0.12
km, B=15—20m) 20,000,000 20,000
OEXNZ2E s 2 400,0008 * 102 X 4,000
TZ AlE A2 146,273 187,713 AN41,440

2EMAH(E2)22 12,113 13,553 A 1,440
201 2Et24A Y| 10,113 10,113 0
01 AP 2t 2] H| 10,113 10,113 0

O=2K ML 22 9,445
OFHEHE =2 563,0008 » 15E X 8,445
Osis"e =42 50,000& = 202 X 1,000
OZSMAAIE2E EWDXAN 2 668
OzsE 150€ = 3,0000H 450
[@MPNPS] 72,600 * 38+A 218
203 R F & 2,000 2,000 0
03 AIZH =X 2 =X H| 2,000 2,000 0
OEZME HR=X 2,000,000& 2,000
2 E 2elAlAE 22 134,160 174,160 A 40,000
201 LBt Y| 134,160 174,160 A 40,000
02 Z2=2=24%4| 134,160 134,160 0
OJIZEotE Ze|AIAE S 22
130,000,000 130,000
ORI EItHat HIIAAM £28
2,080,000& = 2CH 4,160
SEXNY dELAS & JIBAIE &5 933, 100 577,700 355,400
AT QAR SAIHEESZ(E2-51) a2 A 306,300 64,000 242,300
401 AIEHIZL 2 0HY| 306,300 64,000 242,300
01 Al&H| 306,300 64,000 242,300
O=MH Qa2 TAIHETZTZ HEZAI HYUE
B 300,000,000& 300,000
OMME BHE =42 6,300
OLHEI+42
200,000€ = 14= X| = 2420 & 5,600




SN A8W
2 o
=] X

X{ XH -
S =

°el: s Sed st Jlet = (22 &d)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OS8JIIEsE xR 50,000& = 14Z X 700
o~z T2IHE S A 260,000 0 260,000
401 A& HIZ 2018 260,000 0 260,000
01 A& HI 260,000 0 260,000
O=9~s%U2t T2HE S A AAEHS A (L=2.
2km , B=4—12m) 200,000, 000& 200,000
OEXZE EE=x=8 400,000& = 1502 X 60,000
S8 L MItE S At 246,000 0 246,000
401 AIEHI L 201 246,000 0 246,000
01 A& HI 246,000 0 246,000
OS& W MILES AL AAIEAHE L (L=0.1kn, B=
13m) 242,000,000& 242,000
OEXNZE E&=+=8 400,000& = 10 X 4,000
SSHTH0IE MAEZ HESA 120,800 0 120,800
401 Al HI X 201 120,800 0 120,800
01 A& Hl 120,000 0 120,000
SSHEHE0IE Y2 HE I3 A(L=40m, B=
12m) 120,000, 000& 120,000
03 Al 2 0HHI 800 0 800
OZsSZENB0E JYZ HESAH AIER
=l 800,000& 800
HYRIZH (HEnNSER S2AI&0) 64,388 52,043 12,345
Jl2&dl 64,388 52,043 12,345
JlE2&l 64,388 52,043 12,345
201 Let24E] 37,940 30,563 7,377
01 At 22l I 31,156 25,664 5,492
OJlege=a8Z| 500,000& = 179H 8,500
O=&HI(J1E&Hl)
8,000& = 17 * 8¢ » 12& 13,056
O=RMe & T2OHEHR I Xz
800,000& = 104 » 123 9,600
02 =224l 6,784 4,899 1,885
O=RML & T2OHE YR XY 7FHI
1,286& = 82IH * 240 2,470
OH#F AR EHl R AHI 2,754
O=ALJ| 19,415,000& = 1CH * 8% 1,554
OEZEZ2HZEH 15,000,000& * 1CH * 8% 1,200
oORMdID=Z ) RAES 130,000& » 12& 1,560
202 04 Hl 22,848 17,280 5,568
01 S LHOIYI 22,848 17,280 5,568




FAM: ALdNEE2R T 2AEH
B BHLSARY(ALDESS T2ALD)
chelr D123l (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OJIEZ
20,0002 = 17F » 8 » 128  70% 22,848
203 PR =&l 3,600 4,200 A 600
04 EANSIHRF=EHI 3,600 4,200 A 600
©J|F % (200210l 5t) 300,000& = 12& 3,600
HWRES(AEunsS2e SZ2A40) 3,158,050 3,230,000 AT1,950
HEAHHK = 3,158,050 3,230,000 AT71,950
HEHH K= 3,158,050 3,230,000 271,950
705 Ol==&cl 34 e 3,158,050 3,230,000 AT71,950
01 == 34ae 3,000,000 3,000,000 0
Osg~2s, E2~tY, H4YEISR~-FAZ22t &
ZHE sX3 B4 3,000,000, 000& 3,000,000
02 Ol === 0l Kt &t & 158,050 230,000 AT71,950
OFY-2S, I, H4YBA-FYRH &
2HE s8lt= 0l ktae 158,050, 000& 158,050




> A
A & 0l & AF 2 E A A
20188 = =04 Lets|H AL NSER NGMEY ~ HENSEF St L H
2N AEDERSY DEFHDY
Yy otMptn ®EIs uEEd Ad
e HERSAE Hd (&)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
AENsE? nEsd¥ 546,390 926,893 /380,503
Xl 155,044
< 11,634
Al 379,712
OHMGID Helst nsed AE 78,000 405,000 327,000
HESnsSA4E e 78,000 0 78,000
X SEXDA ZEAY 28,000 0 28,000
401 Al HIZ 201 8] 28,000 0 28,000
01 A& HI 28,000 0 28,000
O3 XX 2AIt0et & &5 &X 28,000
OZ AlStoet & Xl 5,500,000& * 24 11,000
Oa=E X 17,000,000& * 1JH 2 17,000
S2d gsdyH ZHAY 50,000 0 50,000
401 AIEHI L 2 CHYI 50,000 0 50,000
01 A& HI 50,000 0 50,000
OE X0 Hl 100,000& * 500m 50,000
dF=zgads 468,390 521,893 A53,503
Xl 155,044
= 11,634
Al 301,712
=38 2435 468,390 521,893 A 53,503
Xl 155,044
< 11,634
Al 301,712
FF3E 243 AMEXH 246,000 232,523 13,477
201 Let24d] 30,000 30,000 0
01 At 22l 30,000 30,000 0
OF=3& 2XE M &2
30,000,000& * 12l 30,000
203 ¥ S =&l 1,000 1,000 0
03 AIZ=XH 2 =AY 1,000 1,000 0
oz¢g, 2k g4ds gRFA 1,000, 000& 1,000
301 et d s 80,000 70,000 10,000
NJIEEd=s 80,000 70,000 10,000
OF=Z& 43t MEXNA 243
80,000,000& 80,000
306 ¢ 2 135,000 130,083 4,917
01 &3 135,000 130,083 4,917
OFFAl S4US FANS2HHYE ASH =
135,000, 000& 135,000
ANoisdad AXEH 222,390 222,370 20




N AdENSER NSEHY
Bu: ¥EIE L
el 33 2435 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 155,044
< 11,634
Al 55,712
307 i+l & 124,890 124,870 20
X 77,044
< 5,784
Al 42,062
02 IZtE M AMHEE 124,890 124,870 20
og3zolome 28 'Hao B' Z2XE
124,890, 000& 124,890
Xl 77,044
< 5,784
Al 42,062
401 A& HIZ 201 I 97,500 97,500 0
Xl 78,000
< 5,850
Al 13,650
01 A& HI 97,500 97,500 0
OgZE2F=ME MZ2HH &X 97,500,000& 97,500
Xl 78,000
< 5,850
Al 13,650




2018 = =0l & LA HdENS=F NG ~ ALus=

M A&
X E: O
(=R B p—

S s

A

Off &t 24

dEE
Off & 24

= N H

83,
,436,124

3,
78,

1

117,343

619,169
062,050

75,218,

003

7,899,340

= N H

83,
,436,124

3,
78,

1

059,503

619,169
004,210

75,167,

655

7,891,848

= Hn A

83,
,436,124

3,
78,

1

059,503

619,169
004,210

75,167,

655

7,891,848

AUHHA (SO

h

J2EMY HEXH

Al

,740,618

,370,309
,370,309

4,620,

394

120,224

307 glztol &

Al

,740,618

,370,309
,370,309

4,620,

394

120,224

o
«©
HO
1
1%
x
T
N
i

©
=
=
o
Q
1]

HASSAEMEXA

4,740,618,000&

= M

Ao S

~

, 740,618

, 740,618

,370,309
,370,309

4,620,

394

120,224

>
0z
=3
>
M
e
HT
FA

=z M H

552,924
276,462

138,231
138,231

683,

606

A 130,682

=z N H

552,924
276,462
138,231
138,231

683,

606

A 130,682

92,154,000& * 6CH

= 0 H

552,924
552,924

276,462
138,231
138,231

683,

606

A 130,682

,637,000

5,749,

000

888,000

,637,000

5,749,

000

888,000

100,000,000& = 1CH
6,537,000,000&

,637,000

100,000

,537,000

5,749,

000

888,000

=

597,280

16,004
581,276

,842

581,438

307 21201 A

597,280

,842

581,438




FN: dENSER HsnsH
M os5UHELS
g2 snssd N (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 16,004
Al 581,276
09 2+HAHEEXS 597,280 15,842 581,438
OHXNLHE =424 228 BEX3
597,280,000& 597,280
< 16,004
Al 581,276
SOt A UHH YR FI (RS E0F) 3,000 3,000 0
201 Zet24E] 3,000 3,000 0
01 At 2t 2l 3,000 3,000 0
oHlatHHl g =& 3,000
OusSaAMAE W2 120,000& » 25& 3,000
ANUHHARS S5 243 X& 6,808,195 5,664,086 1,144,109
307 21201 A 6,808,195 5,664,086 1,144,109
09 2HAHEXS 6,808,195 5,664,086 1,144,109
OBFAUHA @3S =AEH
6,527,179,000& 6,527,179
OXFNHH AUHA QI U =AEA
281,016,000 281,016
AUEM BEHA X 19,294 9,647 9,647
< 19,294
307 21201 A 19,294 9,647 9,647
< 19,294
09 2HAHAEXS 19,294 9,647 9,647
O2XN AN A 7Y X
9,647,000& 204 19,294
= 19,294
SSIHA 7 190,000 212,000 A 22,000
307 21201 A 190,000 212,000 A 22,000
09 2+=HAHEEXS 190,000 212,000 A 22,000
O3ZHA F2Hl 190,000
025015 122,000,000 * 1CH 122,000
o162 = 68,000,000& =« 1CH 68,000
ANUHHA 2EEsEA 10,441,000 10,441,000 0
307 21201 A 10,441,000 10,441,000 0
09 2+=HAHEBXS 10,441,000 10,441,000 0
OANUHA 285 223 10,441,000,000 10,441,000
AU(BY)HA 2#HEAZ M4E ES 170,000 170,000 0
207 & O & Hl 170,000 170,000 0
01 2284 170,000 170,000 0
OANU(SE)HA 283 MF 89
170,000,000& * 13l 170,000




EXN: dEnseE: snsil
MM o=(EWE
G tzsnsEsyd XN (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
24+9H |ItEXZ2 N 46,751,192 44,626,000 2,125,192
307 2Iz2t0| A 46,751,192 44,626,000 2,125,192
09 2L AHEXZ2 46,751,192 44,626,000 2,125,192
O24+gH KFEEX2 46,751,192,000& 46,751,192
I AlUHA &2 BEX(2ENER) 1,672,924 0 1,672,924
=2 276,462
& 698,231
Al 698,231
401 AlEHIZL £ 0HY| 520,000 0 520,000
& 260,000
Al 260,000
01 Al&H| 517,000 0 517,000
O&I| AMUWHBHA SHLEH 2=
129,250,0009 * 400 A 517,000
= 258,500
Al 258,500
03 AlE 21| 3,000 0 3,000
O&I| AMIUIHA S EH 25 A& 200
3,000,000& 3,000
& 1,500
Al 1,500
402 SI2FXHE0| & 1,152,924 0 1,152,924
= 276,462
& 438,231
Al 438,231
02 BIZtXIEANYEX(0OIETH) 1,152,924 0 1,152,924
O&EI|l ANUWHA &=L 192, 154,000& * 6CH 1,152,924
= 276,462
& 438,231
Al 438,231
Il AL A &2 BX(s8d38) 600,000 0 600,000
= 600,000
402 SI2FXHE0| & 600,000 0 600,000
= 600,000
02 QX E A E X (0| XM THH) 600,000 0 600,000
O&I| AIUIHA = BX
100,000,000 * 6CH 600,000
= 600,000
A CIOHAEBHAl 2 XIS 454 641 190,000 264,641
307 QI2t0| & 360, 141 190,000 170, 141
02 AI2AtAMAIE E =X 360, 141 190,000 170, 141
OAIRIQHAIERAI (AIBI2) 29H| NI
276,317,000 = 80% 221,054
OAQIQHAEHAI(CHAIZ2) 2YH KR
556,348,000 * 25% 139,087




2N
X ZH -
L= B

el

AdHdnNsS=8 Hsus
csHE NS
Hsnssd XN

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
402 SI2FXHE0| M 94,500 0 94,500
01 SIZEXIEANSEXR (MMM E) 94,500 0 94,500
OAQIQHAERAI(CHAIZ) ASS=2H AMAE
135,000,000& = 70% 94,500
BAIIIEZHM =& XN& 1,123,800 904,000 219,800
= 253,140
Al 870,660
307 212t0| & 1,123,800 904,000 219,800
& 253,140
Al 870,660
09 2L AHEXZ2 1,123,800 904,000 219,800
OEAIIIEZ M =42 X (8HK0|5H)
843,800,000& 843,800
== 253,140
Al 590,660
OEHAINEAM =2 X2 (8 =U~10t6H
20|5t) 280,000,0002 280,000
AHE 1 08 sE2 EE 127,680 127,680 0]
201 et d| 127,680 127,680 0
01 AP 2t 2| bl 127,680 127,680 0
OMEAIOE s 210 M
90,000& = 10404 9,360
os8Y3=08 s 210 MH
90,000& = 12004 10,800
OMeIEAIOE sdE 210
40,000 = 10400 ~ 12&€ 49,920
O8Y3E08 sdE Z210s
40,000 = 12000 ~ 12&€ 57,600
ANZS0S S#ESEA =g 186,000 230,000 AN 44,000
= 50,000
= 54,000
Al 82,000
301 et A= 186,000 230,000 A 44,000
= 50,000
& 54,000
Al 82,000
11 J|EtE A= 186,000 230,000 A 44,000
OAZ=0l2S #HEEBA & EX 186,000,000 186,000
= 50,000
&< 54,000
Al 82,000
ERAI(HA)R2ESAIA 2 XAAY 1,364,000 0 1,364,000
401 Al HIZ 2 0HY| 1,364,000 0 1,364,000
01 Al&H| 1,364,000 0 1,364,000
S X048l 1,364,000,000& 1,364,000




2N
X ZH -
L= B

el

H2usS=R Wsusy
sSHEus
sussd N

= - — SHE|
S BB (S) - MRAY - BES e Hl D= 2t
AN SEZE2CAAE ASAY 153,555 0 153,555
403 UHXISHHSA=0l& 153,555 0 153,555
02 SO 2SOlCHst It 2 X 2| & A I 153,555 0 153,555
OHAl SHEIBAANAY 715
153,555, 000& 153,555
AMSE e FHHMEI FHE N 466,400 0 466,400
= 233,200
< 69,960
Al 163,240
307 21201 A 466,400 0 466,400
= 233,200
< 69,960
Al 163,240
09 2HAHEXES 466,400 0 466,400
OMYE Xt FHAMEX 2 X2 466,400
OsgXsx X3 400,000 * 666CH 266,400
= 133,200
< 39,960
Al 93,240
Oststsxt X2 400,000& = 500CH 200,000
= 100,000
< 30,000
Al 70,000
HY2FZH (HEnSE]R WS 57,840 50,348 7,492
Jl=2Z (L3 A) 57,840 50,348 7,492
Jl2ZHI (LBl A) 57,840 50,348 7,492
201 Let24d] 25,360 22,088 3,272
01 At 22l 25,360 22,088 3,272
OJlege=adZHl 500,000& = 209H 10,000
o=sgd (JIE&dl)
8,000& = 209 = 8 » 12& 15,360
202 o4dl 26,880 23,760 3,120
01 = LH o4 1l 26,880 23,760 3,120
O=WAHHI(JIE3Hl)
20,0002 » 20H » 8 » 128 * 70% 26,880
203 R =&t 3,600 4,200 A 600
04 EAN2IHRFEHI 3,600 4,200 A 600
ORN2ZYRLFAHI(202 0I5tH)
300,000& = 12& 3,600
405 RHoHF S HI 2,000 300 1,700
01 XL 2 ZFH S| 2,000 300 1,700
O3l 2 SE Xt 500,000& = 124 500
Ozl E2 Xt 150,000& * 107K 1,500




& AR E A A

2018 = =0 & LN HdENS=F NGHLY ~ AL NS=F ot LM

AN ALENS=2R St L
Il

M NADY ENHols e MHSIA
Shel: AAB SIS RS @ KA e CERED
_ RE]
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ALDNE=2L ofd S 14,418,702 21,588,602 NT,169,900
= 2,338,000
Xl 3,668,000
= 1,003,500
Al 7,409,202
XA SMols otMEH MAHGHA 14,368, 142 21,546,642 NT,178,500
= 2,338,000
Xl 3,668,000
< 1,003,500
Al 7,358,642
Rl=228 20 MRS otd KX 22 3,733,333 2,839,369 893,964
= 1,393,000
Al 2,340,333
YR B 22 1,845,547 2,193,646 348,099
201 et | 732,878 726,653 6,225
01 AR 22l ] 536,448 534,108 2,340
O1AF 13t AIHE2S 22 2 23 10,800
OclEx & 22 200 * 10,0000H 2,000
Osl=9 70,000& = 30H 2,100
O &3t 15,0008 ~ 12004 1,800
(@FSg=4 500& = 3,000 1,500
OM= & 34 &3 2,000& * 1,20074 2,400
O &Y 100,000& * 107K 1,000
ORAA 2H0|3t&A 254
50,000& * 110HA = 43| 2,200
OXI|IHEZE A== (W2, Hix=Z)
220,000& = 8 A * 128 21,120
OHl=%& RoA3HEY =2
110,000& * 504 = 12& 6,600
ORAMA SXNEL ML (BZ2sHEZ AL
82,000,000 82,000
ORAN I ALUS(SH2LTRAZ2 AL
27.37& = 80,000 * 180 394,128
OFHl LX2 (24D, €1)
500,000 = 20CH 10,000
Ootd e S&AXIA & ANEHBES A
800,000 = 12&€ 9,600
02 2%l 196,430 192,545 3,885
OFIIQLIB(H=Z, HH=2, 220, 2, §P§
A =) 150,000 * 58I 4 = 12& 104,400
OuGtLEERS(st&A, 840)
1,0008 * 100€ * 6 A& ~12&€ 7,200
OSANQI(HH =2, BH=2, CCTV, &8 =)
60,0003 * 38IMHA * 128 27,360
OOt&E A& ZH KX E2H|
250,000 * 22000 A 55,000
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oOxE s FHl 1,286% * 82IH * 240 2,470
203 YR =2l 2,000 2,000 0
03 AIMFAH S Z=AY| 2,000 2,000 0
Ootded HRF& 2,000,000 2,000
206 M= Hl 10,000 17,760 AT,760
01 =8l 10,000 17,760 AT,760
OCtEAIEE 2CIEZ(SEX, LM, 853
7, 3AE8 S) 10,000, 000& 10,000
305 a2 S 2,000 0 2,000
o1Hia=s 2,000 0 2,000
OGIEANAEE IE2=Z QIS ToHEH&
1,000,000& =* 23] 2,000
401 AIEBIZ 28I 928,669 1,277,233 A 348,564
01 A& Bl 923,305 1,273,440 A 350,135
SHE ER) AY(RAED ~ FHD(FO)
) 395% * 120,000m = 13 47,400
ORME B2 NY(RLHIFD-FLD(R9))
395% * 61,000m * 13 24,095
OR&AE E2I| M (HEW ~ DWW (F0H))
395% * 76,000m * 13 30,020
OR&AE E2I M (HEn~ D21 (2H))
395% * 62,000m * 13 24,490
ORHHE =EX,23 2 ¢4MZ T2
395% * 140,000m * 13 55,300
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= ) 150,000, 000& 150,000
OR4H 22 Rollal=2 MA
500& * 150,000m 75,000
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ORMF SFZAS (SEA L GtA HA,
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HEHl 850 4) 8,000,000& 8,000
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50,000,000& = 13l 50,000
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22,000,000& * 13l 22,000
03 A& =TI 5,364 3,793 1,571
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= 73,000
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- 73,000
Al 31,000
01 A& Bl 104,000 107,000 A 3,000
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= 73,000
Al 31,000
=2Itotd S22l At 1,320,000 44,240 1,275,760
= 1,320,000
201 L2l 80,000 42,200 37,800
= 80,000
02 83322l 80,000 42,200 37,800
03323 % HA 30,000
Oth+=2 sS4 L=
100,000 » 20004 = 123 24,000
= 24,000
Otl=& &8I 500,000& = 12& 6,000
= 6,000
OGt&E L AIEZH |Xbl 50,000,000& 50,000
= 50,000
401 Al BIZ 201 8] 1,240,000 0 1,240,000
= 1,240,000
01 A& HI 1,234,000 0 1,234,000
O=2Jtotd SX2elAtd 1,234,000,000& 1,234,000
= 1,234,000
03 AIE 20 HI 6,000 0 6,000
O=JIotd S 2elAt AlE 20l
6,000,000 6,000
= 6,000
IR MAH(EHA) 22l 3,671 6,896 A3,225
201 et I H| 3.671 6.896 £3,225
01 At 22l 446 446 0
O=2SM& AIBE 20 OXIM M 446
OFg=—F= 150& * 2,00004 300
OLdX M 72,6003 * 29t A 146
02 =224l 3,225 6,450 AN3,225
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=7TL 2Helx=+3 3,225
OZH=EY =82 545,000& = 5 X 2,725
OSJEE =2 50,000 & = 10X 500
g=H FUAY 460,115 459,587 528
201 L4l 1,000 0 1,000
01 At 22l 1,000 0 1,000
OHY=HIA XNEAY dRFX 2E(108)
1,000, 000& 1,000
307 glz2+ol & 225,000 225,000 0
02 IZtE M AHE X 225,000 225,000 0
Oz EZd 7Y (29d¢) 225,000,000& 225,000
401 AIEHI L 2 CHYI 143,820 174,327 A 30,507
01 A& HI 143,820 174,327 230,507
OYFHINA FR=JAAS(3HH)
143,820,000 143,820
402 RI2HR20l ™ 90,295 60, 260 30,035
01 RIZE X2 AL E = (REM ) 90,295 60, 260 30,035
O3 H2F1 S A (=4t32])
10,640,000 10,640
OFIE RAZ2 L IHZS HUlALS (dt422]
) 23,000,000& 23,000
OLHYE cctv & FZE M2 s XM
g (#2&3el) 18,885,000& 18,885
OZEE AXIA (&&H1el) 18,885,000& 18,885
O0rs RHLSAE XA (2H22])
18,885,000& 18,885
M2 E etMEh St I 5,594,809 7,458,096 A 1,863,287
= 945,000
Xl 1,148,000
< 247,500
Al 3,254,309
S=MBAE S22 91,360 105,096 A 13,736
201 Let24d] 61,360 60,096 1,264
01 At 2teltl 3,760 2,496 1,264
OUSEXT SLHBAL HIlQdEB2IHS &
k= 330,000 * 63 1,980
OMLXF 2F=MFIAE HdI|tH2e|He =
k= 130,000& * 6 780
OUHER=MFJAIE XIMEXIILH HIIH A
=t 1,000,000& 1,000
02 2324l 57,600 57,600 0
O A& &EHl =Xl 5,000,000& = 63l 30,000
03223 % HA 27,600
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01 Al& b 30,000 45,000 A 15,000
SLENFAIE 22 15,000,000& = 23| 30,000
WEXF FLHFAE H| 167,196 0 167,196
401 Al HI L 204 HI 167,196 0 167,196
01 A& H| 166,000 0 166,000
OUE 2=XNHFALE 43P HUIAY
166,000,000& * 13| 166,000
03 Al 201 Y| 1,196 0 1,196
OUS SEXFAL EAT FUIAY AL
Hl 166,000,000@ * 0.72% 1,196
Mol & X2 EH| ALY 890,000 1,000,000 A 110,000
= 445,000
& 133,500
Al 311,500
401 Al HI L 2 0HHI 890,000 1,000,000 A 110,000
= 445,000
= 133,500
Al 311,500
01 Al& H| 884,500 994,000 A 109,500
OAMAE THlAE X7 HH AL 884,500,000 884,500
= 442,250
& 132,675
Al 309,575
03 AlE 21| 5,500 6,000 A 500
OME T EX T HHIAIY Al& 20
5,500,000& 5,500
= 2,750
& 825
Al 1,925
X oA S X 22l AFS 114,000 187,000 A 73,000
& 114,000
401 AlEHIZL 2 0HY| 114,000 187,000 A 73,000
& 114,000
01 Al&H| 114,000 187,000 A 73,000
OXNEgsetd X 22l Al 114,000,000 114,000
=} 114,000
X etotd Hi=AlE HEAIS 134,093 0 134,093
401 AlEHIZL S 0HY| 134,093 0 134,093
01 Al& H| 133,431 0 133,431
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OL% =2 MHEMY AAEAHEA (80 N
2, A1) 1,500,000,000& =* 3.27% 49,050
OzLH+=E B2 3 A
63,500,000& = 13l 63,500
O =E E+=22 3 Al
10,000,000& * 13l 10,000
OMEH 42 B2PADA AALHES
270,000,000& * 4.03% 10,881
03 Al 2 THHI 662 0 662
Otil+=2 E2Z3 A AIERUHI
73,500,000& * 0.90% 662
LOtE R EFALS 600,000 400,000 200,000
401 A& IR 201 I 600,000 400,000 200,000
01 A& HI 600,000 400,000 200,000
O Aot & R X 2 2=4l (L=36km)
40,000,000& = 153l 600,000
SEAGHE FHIAY 800,000 360,000 440,000
Xl 400,000
Al 400,000
401 AIEHI L 2CHEI 800,000 360,000 440,000
Xl 400,000
Al 400,000
01 A& tl 794,960 358,000 436,960
O&3d Aotd HHAY 794,960,000 794,960
Xl 397,480
Al 397,480
03 Al S THHI 5,040 2,000 3,040
O&&E Aotd HUIALY AER0HH]
5,040,000& 5,040
Xl 2,520
Al 2,520
FEA0HE FHIAY 896,000 360,000 536,000
Xl 448,000
Al 448,000
401 A& HIZ 201 I 896,000 360,000 536,000
Xl 448,000
Al 448,000
01 A& HI 890,400 358,000 532,400
OF= 40td HHAY 890,400,000& 890,400
Xl 445,200
Al 445,200
03 Al 2 0HHI 5,600 2,000 3,600
OF= Aotd FUIALY AR
5,600,000 5,600
X 2,800
Al 2,800
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AHOF AGHE FHIALY 600,000 2,260,000 A 1,660,000
X 300,000
Al 300,000
401 Al HI K 201 I 600,000 2,260,000 A 1,660,000
X 300,000
Al 300,000
01 A& Bl 596,220 2,252,000 A 1,655,780
Ot AGHE FHIAY 596,220,000& 596,220
Xl 298,110
Al 298,110
03 Al S THHI 3,780 8,000 A 4,220
O4&t9 AGHE HHIALY A& 20|
3,780,000& 3,780
Xl 1,890
Al 1,890
LHAEAGHA & A XA 302,160 0 302, 160
401 Al HIZ 201 8] 302,160 0 302, 160
01 Al gl 300,000 0 300,000
OU&AGHE 2o A X3 AH(L=10m,BH=13%2.0m)
300,000, 000& 300,000
03 Al S THHI 2,160 0 2,160
OUWatAGHE &1 X3 A AIZ R0
300,000,000& * 0.72% 2,160
=27 EHMFAE XA 1,000,000 0 1,000,000
= 500,000
Al 500,000
401 Al HI L 2 THHI 1,000,000 0 1,000,000
2 500,000
Al 500,000
01 A& HI 993,700 0 993,700
O=3X 7 EMFAE XA
993,700,000 993,700
= 496,850
Al 496,850
03 A& S THHI 6,300 0 6,300
F==A7 FMFAE EXNAY AIZ 20
6,300,000& 6,300
= 3,150
Al 3,150
AtEE Dt XtH0l S Eot= MEiotE =4 5,040,000 11,249,177 A6,209,177
Xl 2,520,000
< 756,000
Al 1,764,000
SAgIIEd MEOIE SRAY 2,520,000 2,800,000 A 280,000
Xl 1,260,000
< 378,000
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Al 882,000
401 A& HIZ 201 I 2,520,000 2,800,000 A 280,000
X 1,260,000
< 378,000
Al 882,000
01 A& HI 2,510,000 2,790,000 A 280,000
OXGIIEHE MEHoIE SHAAY
2,510,000, 000& 2,510,000
Xl 1,255,000
< 376,500
Al 878,500
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10,000, 000& 10,000
Xl 5,000
< 1,500
Al 3,500
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Xl 1,260,000
= 378,000
Al 882,000
401 A& HIZ 2018 2,520,000 2,800,000 280,000
Xl 1,260,000
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Al 882,000
01 A& HI 2,510,000 2,790,000 A 280,000
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Xl 1,255,000
< 376,500
Al 878,500
03 A2 2 0HHI 10,000 10,000 0
OXstd MEStE=SEA MY AIERUH
10,000, 000& 10,000
Xl 5,000
< 1,500
Al 3,500
HYRIZH (HEnNS2TF LMD 50,560 41,960 8,600
JlE3l 50,560 41,960 8,600
JlE2&tl 50,560 41,960 8,600
201 Let2d] 21,056 15,060 5,996
01 At 22l 21,056 15,060 5,996
OJleg =83l 500,000& = 169H 8,000
O3t (JI&ZHl)
8,000& = 17 * 8¢ » 12& 13,056
202 04l 23,904 16,200 7,704
01 = LH 4 Hi 23,904 16,200 7,704
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